Calculate the area of this compound shape:
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Area=(fcm x 7cm) +(5cm x 9em)
= 42cm? + 45cm® = 87cm
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Area=(Bcm x 3cm) + (7cm x 6om)
=24cm? 4 42cm? = ébem?
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Area=(2cm x 8cm) + (3em x Gecm)
= lbem® + 18cm® = 34em’
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Area=(12cm x 4cm) + (Bem % 8em)
=48cm® + e’ = 112em’
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Area = (4cm x 10cm) 4 (5cm % Scm) Area=(7cm x 9cm) + (15cm x éom)
= 40cm® + 25cm* = 65cm’ =63cm? + 90cm® = 153cm’
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Area a:  18cm’ Area c:  10cm® Area a: 16cm? Area c: 15cm?
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Area b:  12cm Total: ~ 40cm Area b: 12cm? Total: &43cm?
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Total: 104cm?




